Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

SummerExamination-2019

Subject Name : Fluid Mechanics
Subject Code : 2TEO03FMS1 Branch: Diploma (Mechanical)
Semester : 3 Date : 11/03/2019 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) Whatis an ideal fluid?
A) A fluid which has no viscosity
B) A fluid which is incompressible
C) A fluid which has no surface tension
D) All of the above
b) pressure head=?
A) pghB) mgZC) 0.5mv°D) None
c) Negative pressure calles as....
A) Atmospheric pressureB) Gauge pressure
C) vacuum pressureD) None
d) Viscous forces are not present in
A) rotational flowB) irrotational flow
C) laminar flowD) none of the above
e) When flow rate is varying then the type of flow is........
A) Steady flowB) unsteady flow
C) uniform flowD) viscous flow
f)  Unit of flow rate is
A) m¥secB) m*/secC) m/secD) m/sec?
g) Bulk modulus is the ratio of
A) shear stress to volumetric strain
B) volumetric strain to shear stress
C) compressive stress to volumetric strain
D) volumetric strain to compressive stress
h) A study of fluid in motion is known as
A) Fluid statics B) Fluid dynamics C) Fluid kinematicsD) None
i) Which of the following is a dimensionless equation?
A) Reynold's equationB) Euler's equation
C) Weber's equationD) All of the above
j) Unit of viscosity in CGS system is

A) pascal B) Poise C) Stoke D) bar
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What is the correct formula for absolute pressure?
A) Pabs = Patm — PgaugeB) Pabs = Pvacuum — Patm

C) Pabs = Pvacuum + PatmD) Pabs = Patm™* Pgauge

Unit of kinematic viscosity in CGS system is

A) StokeB) PoiseC) pascalD) bar

Velocity of flow remains constant at every point is known as....
A) Steady flowB) Uniform flow

C) Compressible flowD) None

What is an ideal fluid?

A) A fluid which has no viscosity

B) A fluid which is incompressible

C) A fluid which has no surface tension

D) All of the above

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Q-6

[EN

Attempt all questions

Define fluid. How fluid are classified? Plot the shear stress-velocity
gradient relationship for various types of fluid.

Define following Terms. (1) Absolute Pressure (2) Gauge Pressure (3)
Vacuum Pressure. Classify Pressure Measuring Devices.

Attempt all questions
List names of Different Types of fluid flow and explain any three.
Explain piezometer for pressure measurement with neat sketch.

Attempt all questions

Explain the working of reciprocating pump with neat sketch.
Derive Bernouli’s theorem. Give introduction of different step of
Bernouli’s equation.

Attempt all questions

Explain with neat sketch ,the construction and working of external gear
pump.

Water flows with pressure of 400 KPa from pipe of 200 mm diameter at
a rate of 2.0 liters / second. If the pipe height is a 100 mm from the
datum. then find total energy head.

Attempt all questions

Differentiate between hydraulic system and pneumatic system

Oil flows from pipe AB, whose special density is 0.9.The diameter of the
pipe at A is 25 cm and the velocity of oil on this end is 3m / s. If the
diameter of the pipe is gradually decreasing to 20cm at point B by the
end then find the velocity and mass flow rate of oil.

Attempt all questions
List types of flow measuring devices. Explain principle of operation and \

working of Orifice meter.
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Q-8

Q-1

b)

f)

9)

h)

List the types of notches and weirs. Explain any one in brief.

Attempt all questions
Explain working principle of Hydraulic Ram with neat fig.
Explain working principle of Hydraulic Press with neat fig.
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Attempt the following questions:
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B) ycllél ¥ % uelo2llcd B

C) Y8l 3 Bl Auldl Ul cdeud otell
D) GURell dAHIH

golal oy =

A) pghB) mgZC) 0.5mv°D) None
BBl (Negative) EGURLA 9 s&cll 8?
A) clldlclRBle] EURIB) A% EHLRL

C) [Aclic(Vacuum) €aRID) As uel «1(3
Viscous olell AHL &lcll olell?

A) A2t YelleB) A2AAA YclleC) AlHlolR YalleD) s URL ol(@

Yool S WHL HECl wlcAl $2 A Yaleal s Yclle 58 87
A) RAR YaieB) URAR YaleC) AR yaueD) [Qrsd yaus
Sl 220l AsH 520 B?

A) m*/secB) m?/secC) m/secD) m/sec?
wes WsYAR A 2lloll A B?

A) AR RuUA AYARSs Reot

B) AARs Rl wal 2flar U

C) s1URc WA ARARS Re5ot
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K)

CGS UgldHi Raldtcllell AsH s20 B?
A) URSUB) WA (Poise)C) 1S (Stoke)D) Gl
(A20et eolnl HIRe] Yt 53 B?

A) Pabs = Patm — PgaugeB) Pabs = Pvacuum — Patm
C) Pabs = Pvacuum + PatmD) Pabs = Patm™* Pgauge

CGS UglQHl s18aANEls Ralduloll AsH 5 B?
A) R8s (Stoke)B) WU (Poise)C) URSAD) WIR

M) @ yoleHi €35 2@ Aol AU RJA 82l Aal 52 Yalle 53 D?

n)

A) RAR yaeB) [AaBld yasC) melnlld yaisbD) As Ul i@
CGS Ug(AHi Ralotidlell AsH 520 B?
A) URSUB) WA (Poise)C) 1S (Stoke)D) Gl

Attempt any four questions from Q-2 to Q-8

Q-2

Q-4

Q-6
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oll LU U cm 8 Ulal Al BSL GUR ATl AL 3 m/s 8. WUl
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